EARAROBEEIERT — 2 N— IBISH —F

20135118268 (K) 14EIA$#3H

Y >%—#% c2orn

‘ [R1%] & ‘ [REBE] — | & (&) 15000 R

[A~&£] 1 7% :1,000,000  ~ 23 :300,000d 373 :180,000 "

4 7% 120,000 . 5 3& : 100,000 M

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
: 6l I7F4—FU—1 i 3 ‘ﬁiﬁﬁo‘ééw 1:36.3 9-9-4-4 |40.3| — 2 512 Egégﬁ(k#)
L:T7nhtEy b BT —TZXIAI =) N 79‘;577—L\
s . 4 5 | AL 1:36.8 10-10-4-5 | 40.7 | — 6 455 | EHRRRAL (KFH)
24| T MHVaTT 56.0 21/2 ERRE
RALTFAT BHX/ T wL—F @172 S e
3 B PEREPS -2 # o3 Sg'é*giﬂﬁ 1:36.9 32-2-2 |41.0| — | 1 | 512 *ﬁg}iﬁ]gé (K3)
. 172 _
Qi RALZG -2 BATENS T 2 2 15555574
= L=/ 3 | mEF 1:36.9 2-3-3-3 | 41.0| — 3 479 | 1BAKE (K3H)
47|12 ¥TRITY/—0 56.0 7% e
R:d—IR7Y2—)b B:AXHeOq > 723 (#2) 1E’r’rm‘¢
5 o | 7EIN= 1 i 3 gﬁ&g&i 1:36.9 =1-1-1 (411 | — 5 | 485 E;gﬁi ()\#5)
. 74 SHG—
L:F—TNTPN—h B:X—ILKwh/Y %) #3) 7=
6l11|xFNT7y7 # o3 51‘»%%%% 1:37.8 8-7-8-8 |[41.3| — | 4 | 509 gﬁgz (R#)
. 4 i
QLU EYSYRTR BiOvsREa— @ SR~ A
7157 F—ILRT—T> 47 Sliéﬂgfék 1:38.0 14-14-14-14| 40.5 | — 10 | 490 ‘gi% (1v#k)
. 1 _ in
LI T TA-Z BILY e W |
=g s, — 44 | HEAKEE 1:38.2 1-11-10-9 | 41.8 | — 8 450 | BEFMEH (KH)
88|13 7ENY=RH 56.0 i ) s
R:YZRE—3I=R4— B H-FLO-X W @9 |3 aeig
< = H o4 | REEE 1:38.2 7-6-6-6 |42.2| — 7 437 | HEAR—K (KH)
: : RIS
10l5/ 8| IUFRTIILY i 5 gj"%%ﬁi 1:38.2 5-5-8-10 |41.8| — | 12 | 467 %gﬂﬂﬂx (IN#h)
= . NF _ BHET
LTy N BN E—Z S — ") 0| 28 Lam
_ S5 1:38.3 4-4-7-7 | 42.1| — 9 468 | FHFE (K3H)
FvoF # o3 | BE
: 1/2 AEXH
iR TA4 Xy B:arduIrTva 2 (42) BIN77— L4
Ta455>7Y 5 §¥65317J§§ 1:38.7 12-12-12-13| 41.7 | — | 13 | 492 ;E\ggglg (/IN#h)
o P £
L ELTIO-UTR B:I5LKTET @ 48) | s=rimsg
.\ . . EHB . —13-13- _ B
FS54 R v Ry o4 56% 1(738t§3 13-13-13-12| 41.5 11 ;1+592) %;&uf (KFH)
R:FaTLEN Biio RyL— HET7— L
N #1138 :39. ~7-11- . — NGFETE (/I\HE)
1Lt — % 3 %53.0 (11 319/21) G-t 424 1 (iﬂ) I/ﬁfm%ﬁ -
LA —=JIhTx BANTN—Ua XFE H
® 1—F—@EBIERL
1T=7r= 2,12,5,3,8,10,14,1,6,4,13,9,11,7
23—+ — 2,5,12,3,8,14,(1,10) ,6,4,13,9,11,7
== 2,5,12,(4,6),14,3,(1,8),13,10,9,11,7
43—+ — 2,5,12,6,4,14,3,1,13,8,10,11,9,7
[ N5
B 6 320M 714K 4-6 1,320 e E 3-4 870M JEE 4-5-6 2,860M
B B 6 130M 5-6 290M e B 4-3 1,390/ 3EE 6-4-5 20,720
4 380M 4-5 890 B & 4-6 3,620
5 140/ B H 6-4 5,930

ABICOVWTRDTEEERROODE. TR LIV,




